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D. Conduct the test 
a. Are there any unusual observations that question the integrity of the data or the assumptions of the model?  

The value 6.13 appears to be an outlier and increases the standard deviation. 
b. Is the decision to reject or fail to reject Ho?  

02.2
36

168.1
3394.3 =−=t   Reject Ho 

 
 

E. Conclusions - State a one paragraph conclusion that is consistent with the decision using language 
that is clearly understood in the context of the problem. Address any potential problems with the 
sampling methods and address any further research you would conduct. 
 
The mean length of time for eruptions of Old Faithful is not three minutes, it appears to be longer. This conclusion 
is based on 36 measurements taken of Old Faithful.  
 
One measurement of 6.13 seems highly unusual and does not seem to fit the data. I would review the data to 
make sure this result was recorded correctly. 

 
 
2. 15 I-pod users were asked how many songs were on their I-pod. Here are the summary statistics of that study: 

 
        200650 == sX  

 
Can you support the claim that the population standard deviation is under 300? Conduct the test with α= 5% .  

        Show all steps. 
 
 

Ho: σ ≥ 300      Ha: σ < 300       
Chi square  test of standard deviation vs. Hypothesized Value 
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Reject Ho if χ2 <6.571 (lower tailed test) 
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       The standard deviation is under 300. 
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